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00 OO0
> faroe <- data.frame(matrix(c(198, 154, 44, 1440, 1117, 3, 1525,
+ 1183, 2, 1470, 1140, 4, 842, 653, 10, 1519, 1178, 46, 752,
+ 583, 46, 118, 92, 15), ncol = 3, byrow = T))
> names (faroe) <- c("population", "patients", "mortality")
> faroe
population patients mortality
1 198 154 44
2 1440 1117 3
3 1525 1183 2
4 1470 1140 4
5 842 653 10
6 1519 1178 46
7 752 583 46
8 118 92 15
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ROODOOODO:

> attach(faroe)
> rate01 <- mortality/patients
> summary (rate01)

Min. 1st Qu. Median Mean 3rd Qu. Max.
0.001691 0.003303 0.027180 0.073740 0.099940 0.285700

> rate02 <- mortality/population
> summary (rate02)

Min. 1st Qu. Median Mean 3rd Qu. Max.
0.001311 0.002562 0.021080 0.057350 0.077660 0.222200

> rate03 <- patients/population
> summary(rate03)

Min. 1st Qu. Median Mean 3rd Qu. Max.
0.7753 0.7755 0.7756 0.7763 0.7762 0.7797

> detach (faroe)
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198 x 0.776 = 153.643 ~ 154,

118 x 0.776 = 91.568 ~ 92
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132 — y
40000 x (1 — 0.17)

y
40000 x 0.17

= (1-0.72)
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0.17 x (1 — 0.72) x 132

Yy = 1—0.17 x 0.72 = !
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ooooo > (kensa.p <- 40000 * 0.17)

00 o0 [1] 6800

> (kensa.p.d <- round(0.17 * (1 - 0.72) * 132/(1 - 0.17 * 0.72)))
[1] 7

> (kensa.n <- 40000 * (1 - 0.17))

[1] 33200

> (kensa.n.d <- 132 - kensa.p.d)

[1] 125

> kensa.p.d/kensa.p

[1] 0.001029412

> kensa.n.d/kensa.n

[1] 0.00376506

> kensa.p.d/kensa.p/(kensa.n.d/kensa.n)
[1] 0.2734118
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